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1. (5 43) ¥ P(B) = 0.9, IP(4]B°) = 0.7, IP(A|B) = 0.2, 5 3K Hi IP(A) and IP(B|A),

2 (5 4)) BRAREREHNE x SRR, BEAARERESHERZ
T8 2%, B X < —2% BUMEEES 03, X > 6% HURSZRES 0.1, BUM B A DEREE
Al (SRAE 08 RS 0

3. (10 43) BB MR (unbiased) fEEFRA LR —BE (consistent) fEFTZ, B
—B AR BT —E R TR . ]

4. (10 8) X, v BEEMEE, B BX) = 0, var(X) = 4, B|X) = 2 - 3x, HitH
E(XY), cov(X,Y), X X 8 v BERIL?

5. (20 ) B EEAR (1) FIPRAER (©) B RRY R LD SHEMEL o 4,
WRFHEFREL T EARABRUERNT:

Yr=10 (B +8) 5}=4
Yo =21 S% =5

BBE LT E B RO, 75 5% MBEE /K, FRVRE TRERRNS R,

(a) FUEERBHETE R RREENFRBRENRS,
(b) MMBEEAAE T R B EENFTE B,

6. By using a cross-sectional data of sample size 100 to estimate the regression
model, M, = S, + B,W,, + B, Wy, + B,X, +&,. The following empirical result is

obtained:
M, =123~0.35W,, +1.51%,, +0.55X,
(0.55) (0.25) (0.95) (0.23)

parentheses and R’ = 0.85.

, where the standard errors are in the

According to the information below, identify the statements which are correct
and explain why. Modify the statement if it is false.

Statement A: The model specification is appropriate since R* is quite high. (7%)

Statement B: E(M, |W,,, Wy, X,) = B, + BWy, + By + B X, (1%)

)EE' Ll e SN N I 2

T T - TZor Wik
SR AR
AN



=1

2.

@Iﬁﬁﬁ%jﬁ%%fﬁﬁﬁi’ﬁﬁiﬂ%ﬁkﬁéﬁ%@ x> H %
PRl AEES IR RHE : it

Statement C; According to the following hypothesis test with the significance level
a=0.05, W, isnotan important explanatory variable for the model. (7%)

H, ithe coefficient of W,, =0
H, :the coefficient of W,, # 0
1=035/025=0.14
[2]<2505(96) = 2.33

Statement D: If all the variables in the model are standardized, then the

coefficient estimates represent the elasticities. (7%)

Statement E: Suppose a researcher wants to test if the marginal effects of W,
and W,, are the same. Then the following hypothesis test can be conducted
where an F test can be used. (7%)

Hy:p, =B,
H, :,[32 #* ,33

Statement F: Suppose Cov( Wy, W;;)=0.88. The estimators of fs are biased, while

the biasedness depends on the magnitude of the covariance between
W, and W, .(1%)

Statement G: If Vaor(e, | X, is large) > Var(e; | X, is small), then g;and &, are
correlated in the sense that Cov(e;,6,)#0 Vi# j,and the Gauss-Markov

Theorem couldn’t be applied. (8%)




